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“Statistical Physics” Spring 2003

Quiz 8 (5 points) 4 April 2003

Professor Mark W. Meisel

: ) Qur R L
PLEASE PRINT and box final results. Show all work for full credit. 2 peides

Work must be clear and unambiguous for credit.

Imagine a solid with sites on which particles can be localized. Each site can have 0, 1, #® 2,0, 3
particles; each particle on the site can be in one of three states 1 , 92, or 93 with energy €, €3, or

e3. We neglect the interactions between the particles even if they are localized on the same site.
Write down the grand partition function for one site if the particles are bosons. What is the grand
partition function for a solid with IV sites? Explain how you would obtain the average number of
particles per site. You do not need to perform this calculation.
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